Progress Probe #1660619: 7th Grade Science TCAP Blitz Week 1 (Grade 07 SC)
	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	A  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.1 Design Experiment [99103]
	D85485

	2
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.1 Design Experiment [99103]
	D85488

	3
	C  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D85199

	4
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D84700

	5
	D  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.3 Translate Data [99105]
	U56187

	6
	A  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.4 Cause and Effect [99106]
	D65656

	7
	B  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.5 Experiemntal Error [99107]
	D111585

	8
	C  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.T/E.3 Intented vs Unintended Consequences [99110]
	D104212

	9
	A  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.T/E.4 Adaptive vs Assistive Bioengineering [99111]
	U56290
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	Question 1 of 9

	A student measures the length of two iron rods. The results are recorded using a standard meter scale as shown below.
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	The student takes more than one reading because ____________. 
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	A.
	it increases the reliability of results
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	B.
	the measuring instrument may be faulty 
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	C.
	the temperature of both rods is different 
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	D.
	it increases the accuracy of measurement
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	An experiment to calculate the frequency of a tuning fork gives the following results.
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	Which of these is the most likely frequency of the fork?
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	A.
	500 hertz
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	B.
	501 hertz
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	C.
	502 hertz
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	D.
	499 hertz
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	Anna has a dog at home. What should she do when a group of her friends come over to her place?
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	A.
	tie the dog at the entrance gate
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	B.
	let the dog roam around in the house
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	C.
	tie the dog at its kennel in the backyard
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	D.
	feed the dog to distract its attention from the visitors 
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	A scientist follows ethical guidelines in experiments involving human subjects. This means that human subjects ______________________. 
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	A.
	are unaware of risks and benefits of the experiments
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	B.
	are well informed of risks and benefits of the experiments
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	C.
	would to be totally cured before the end of the experiments 
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	D.
	would participate unwillingly in the research experiments
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	[image: image19.png]Mineral Properties
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Which mineral listed in the table is white and cannot be scratched by glass? 
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	A.
	calcite 

	[image: image21.wmf]  
	B.
	gypsum 
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	C.
	plagioclase 
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	D.
	quartz 
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How are carbon dioxide and oxygen exchanged between the rabbit and the leaf in the diagram? 
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	A.
	The rabbit gives off carbon dioxide that is taken in by the plant for photosynthesis. The plant gives off oxygen that is taken in by the rabbit for respiration.
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	B.
	The rabbit gives off oxygen that is taken in by the plant for photosynthesis. The plant gives off carbon dioxide that is used by the rabbit for respiration.
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	C.
	The rabbit uses carbon dioxide from the plant for photosynthesis.
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	D.
	The plant uses oxygen from the rabbit for respiration.
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	Julia dropped objects from a height of 12 meters into soft sand to find out if weight affects the speed at which objects fall. 

She found that a golf ball, a spoon, and a coin landed in less time than a feather, a paper plate, and a maple leaf. Julia concluded that light objects fall more slowly than heavy objects. 

Why is her conclusion probably not correct?
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	A.
	All of the objects tested were about the same shape.

	[image: image30.wmf]  
	B.
	Factors other than weight affect the speed at which objects fall through air.
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	C.
	Speed is a rate that can be determined by measuring distance traveled in a given time.
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	D.
	A height of 12 meters is not enough distance to compare the relative speeds of the falling objects.
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	Embryonic stem cell technology most strongly affects what area of society?
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	A.
	economic
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	B.
	aesthetic
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	C.
	ethical
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	D.
	recreational
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Insulin is normally made by human pancreas cells. What process allows bacteria to make insulin? 
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	A.
	gene splicing 
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	B.
	meiotic division 
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	C.
	enzyme inhibition 
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	D.
	organismal cloning 
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